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J—lLarT4vai2828 1000 KiEEh =;8:282°C JKig:26°C
S 7 BE BEK |2 BAE BEX BA —#8 | 4 WL —4% | 5 BULKkKRE | 6 RBIEKXE | 7 FE #HR | ¢ EB HK
50m BERER BllEkE 1 |ELER 1| R =2 | FHEK =1 |EHER S2|FEHER B2 |EHER =1
24.61 26.04 26.74 26.88 26.89 26.90 27.61 27.76
B 7 O EAR BEX |2 KEH —& |3 HhE B4 |4 FUXKBA| 5 BN FE |6 BIEKRER| 7 £F #E | ¢ W EBA
100m |@KER 1| FHER a1 |EKkER 1| FHER B EEER =2 |ZHER 2| FHER B2 |BEmEER =1
56.16 56.46 56.71 58.19 58.97 1:00.00 1:00.15 1:00.38
S 7o BA |2 BN ME |9 BR M |4 &8 £X |5 BN BEAN |6 WE BN |7 EE F— | ¢ EH %k
200m |BEEERK a1 |FEER E2EEIEER 22| ERaR B2 | FHIEER 22 |hFaK &2 5EER &2 |hEER =2
2:06.43 2:10.32 2:15.76 2:20.99 2:22.64 2:29.49 2:31.86 2:34.85
R 7T OHhE BN |2 thth BA |3 ER MA | ¢4 2 £ | 5 HEN B |6 ME ME | 7 BE WE | 8 B EKX
400m |BKER B1|BERER BlEBEIEER =2 ERaR =2 |lh0EK =1 |FEK 2 |hEER E2|lLOER =2
4:29.15 4:29.97 5:00.71 5:04.97 5:31.83 5:33.23 5:34.64 6:07.35
s 7 OFEBRK |2 XKHB —& |3 MA BL| ¢4 BH EE |5 AR KFE |6 EAMEBE | 7 BE RXx | s B85 &
50m BERER 1| FEHER B AEER 1| FNER &1 |LAEK =2 |lLAEK a1 |EKER a1 EEEK =2
29.04 29.72 32.12 32.39 33.06 34.24 35.01 36.04
e 7 KHB —& |2 GH8 BX |3 BH Eg | 4 nE BESh | 5 E=H Eth | 6 HHE B | 7 kEAMEBRE | & FILXEKH
100m |FEER =1 |EKkER a1 FNER a1 tEER =1 |BhRFER =2 PR e S1|LaEHR a1 |FEER =1l
1:02.92 1:04.21 1:09.62 1:09.66 1:12.14 1:13.56 1:13.74 1:15.24
T 7 KE —& |2 ME KL |3 =A Eth | 4 kAMEE |5 ME B |6 BH mE |7 BEE £ | 8 HEX EH
200m | FEER B EEEHE 1| =2 | lLOER 1R =1 EBIEER 51| BEEKR =2 | FHIXER &1
2:16.51 2:32.63 2:41.30 2:42.57 2:43.85 2:47.88 3:11.21 3:12.20
T 7 OEBR BX |2 BH RA|9 FEREXK|4 B BFE |5 BUXKBA |6 mHH E— |7 BEAE—H| 8¢ EBHE RX
50m EKER &1 |EMER a1 AEER 2| FEER =1 |FHEK B1|FHEK B2 | REER a1 |EKER =1
31.93 33.32 34.96 35.18 35.85 36.63 36.79 37.68
T 7 #E K2 |2 h BB |3 B & | ¢4 BE ZTX |5 BEBH RA |6 hE &K |7 BN HKTFE | ¢ BEXAE—H
100m EILER B1|REESKR B2mIZEER =2 tEEkR =2 | EfEiR =1 |ERSR B1|FHEK 2| EER =)
1:08.71 1:11.59 1:14.14 1:14.69 1:15.96 1:17.35 1:19.35 1:20.91
T 7OEBR BX |2 #E K2 |3 th BB |4 BB M |5 B EK |6 HFE EA |7 B #mt | ¢ BN EHE
200m |EKER 1| ELER B AEER 22 BIFEER B2 EEER =1 |EKER B |FHEE B2 |FHEE =2
2:27.06 2:29.31 2:34.55 2:36.47 2:47.26 3:02.55 3:03.75 3:06.12
Nao54 | ! ME BE |2 AZ EE |3 2F $T |3 =E R |5 FE BX |6 Kkl FEth | 7 FHEK EH | ¢ ME MFE
50m R E R B2 |EER B2|EEKR B2 | EER B1AESEHR =2 |FHeE B3| FHIEER =1 |HFaR B2
BEH 25.68 28.11 28.63 28.63 29.06 32.37 34.21 34.28
Nao54 | ! ME BE |2 #UKE |3 BEX —# |4 AZF B |5 FE F |6 HE =22 | 7 MA MFE | 8 BHEX =H
100m |BEERSK B2 |EKkER &2 | LS B AEER =2 | EEK 1 |RFEK &1 |BhEER =2 | FHIXER &1
56.47 1:01.21 1:02.35 1:03.94 1:04.40 1:08.99 1:20.57 1:20.96
NETSA 7Rl T | 2 FRE R |3 BUUXKE | 4 kil EFth | 5 H#HE =2
200m |EKER &2 | REER 1| FHER B |FHEE =3 | ER =1
2:10.02 2:27.63 2:33.86 2:53.93 2:54.33
BAARL— | ] BE EX |2 FEBRK|3 $E BN |4 BA NK |5 £F $% |6 BAF B | 7 BE KF | 8 BHEAEARR
200m BREK B1|BERSK B1|EKER B1|BIZESK F2|tEaik B2 tEER B2|lO0ER B2 | EER =)
2:16.54 2:18.46 2:21.53 2:23.41 2:24.88 2:28.79 2:32.11 2:32.67
BAAL— | HILBE |2 £F 5% |3 BAEARN | 4 EH RF |5 BN KNF |6 KB BN |7 28 F
400m |EKER B2 EEK B2 EEK =1 (lLOER 22 | FHEK =2 | FHIXER 32 |FHIESR &1
4:53.78 5:14.54 5:18.36 5:32.89 5:35.14 5:53.29 6:36.42
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o 7 EH RS |2 LtH Bk | 3 & ¥E | 6 BEEBEF #E mE | 8 £
50m EEEK B2 | SR B1|BESK =) =1 |FHaE 52 B1|F5 =2
30.39 32.29 33.68 34.28 35.32 35.51 35.76
. TOBH OEM |2 BN BFE | 3 EH BH B | 6 B OBE TE BiE | 8 B BA
100m |[EEEK B1|EKkER B1|BEEER =2 B1|AERSK =1 &2 |BRF =1
1:01.41 1:01.56 1:05.81 1:06.08 1:11.41 1:15.69 1:16.19
o 7 RIE ES | 2 WKk k|3 HHE £& [FE EF
200m |EEEK &2 |BEEER B |BERER =1 =1
2:09.89 2:17.38 2:57.13 3:00.09
R TOBEN BE | 2 #EX £x |3 HE BiE | 5 RBHFM | 6 FH EXR
400m BKER B1|BERSK B2 |EKER =2 =1 |FHBER =Y
4:28.88 4:35.85 6:01.30 6:10.72 6:55.89
T 7 OHE ®EF |2 BB BSH |3 B &F AH BF | 6 =i RE
50m fESR B2 5EER B2 |EKER =2 22 |FHEKR =2
3257 37.52 4253 45.75 54.43
s 7OER EXR | 2 HLE BF |3 4 BREBEF| 5 BBITIHLH | 6 LtF BEx XA B% | 8 AF% F&
1oom |[BEREHK  EREER  E2|ERER 2 I T S = =2 ERER &2
1:06.36 1:10.34 1:23.71 1:26.70 1:28.75 1:39.94 1:39.99
- 7OfEAR EEX |2 BB BE | 3 A% T&
200m |BEEEK B2 |BEmEER a1 |EKkER =2
2:20.78 2:44.52 3:26.89
T 7 HfR FE |2 =8 BE |3 RN & wmE BE | 6 FE EE AREM
50m BKER B2 |BERER 22| THAESR &2 =1 |FHER =) B2
38.33 39.54 40.36 4227 46.90 47.87
T 7 OEE REK |2 =% BT |3 RO &H WA BEE | 6 1A KF =B $x | 8 ry
100m |FERBE B1|BERER 22 |mkER =2 =1 |EEEK =1 =2 |FE =1l
1:23.79 1:23.83 1:24.98 1:26.56 1:30.34 1:36.58 1:39.70
T 7 OBEH OB | 2 EE K&K |3 FEE] W5 B3 3 00
200m |EEER 1| FEEE B |BEEER =1
2:45.10 3:05.25 3:29.74
"ao54 | ! AN XK | 2 FE BR | 3
50m fEER B2 | REER B2 EKE
29.80 30.22
Naos4 | ! AR EK | 2 FE AR |3 B A
100m |[EEEK B2 | REER B2 |BEmEER =1
1:05.33 1:06.08 1:30.56
NETSA 7+_._z¢r*EEI iﬂ_J.’J_
200m BARER =2
2:28.14
BAARL— | 7 BN BE |2 Wk k|2 Licl: LU ER FH | 6 B HE TH BiE
200m BKER B1|BERSK B1|REESR 3 =) =1 | THEHAES®R 51 =Y
2:22.42 2:26.24 2:41.77 2:45.00 2:47.15 3:07.96
BARL— | AN EM |2 BR FH | 3
400m |EEER B2 |BEmEER a1 AERSR
5:16.88 5:56.68




